
Year 1: Week 5, Day 2 
Add and subtract 11 and 12 

Each day covers one maths topic.  It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders.
They come from our PowerPoint slides.

2. Tackle the questions on the Practice Sheet.
There might be a choice of either Mild (easier) or
Hot (harder)!
Check the answers.

3. Finding it tricky? That’s OK… have a go with a
grown-up at A Bit Stuck?

4. Have I mastered the topic? A few questions to
Check your understanding.
Fold the page to hide the answers!

© Hamilton Trust 
Explore more Hamilton Trust Learning Materials at https://wrht.org.uk/hamilton 



Learning Rem
inders 

©
 Ham

ilton Trust 
Explore m

ore Ham
ilton Trust Learning M

aterials at https://w
rht.org.uk/ham

ilton 



Learning Rem
inders 

©
 Ham

ilton Trust 
Explore m

ore Ham
ilton Trust Learning M

aterials at https://w
rht.org.uk/ham

ilton 



©
 H

am
ilton Trust

3UDFWLFH�6KHHW�0
LOG

A
d

d
ing

 and
 sub

tracting
 11 and

 12�

Find the answ
ers to these num

b
er sentences. 

You can use a 1
-1

0
0

 J
ULG to help

.

1
.

3
0

 + 1
0
=

3
0

 + 1
1

 = 
3

0
 + 1

2
 =

2
.

4
0

 –
 1

0
=

4
0

 - 1
1

 = 
4

0
 - 1

2
 =

3
.

2
0

 +1
0
=

2
0

 + 1
1

 = 
2

0
 + 1

2
 =

4
.

3
3

 + 1
0
=

3
3

 + 1
1

 = 
3

3
 + 1

2
 =

5
.

4
2

 + 1
0
=

4
2

 + 1
1

 = 
4

2
 + 1

2
 =

6
.

3
6

 –
 1

0
=

3
6

 –
 1

1
 = 

3
6

 –
 1

2
 =

©
 Ham

ilton Trust 
Explore m

ore Ham
ilton Trust Learning M

aterials at https://w
rht.org.uk/ham

ilton 



3UDFWLFH�6KHHW�0
LOG
��
��
�
�
�J
ULG

н
͍

с
ǆ

Đŵ
Ϲ

Ъ
р

ά
Ы

х
ŵ
ϸ

н
й

ф
ж

ʹ
Đŵ

͍
п

р
Đŵ

Ϲ
Ъ

р
ά

Ы
х

ŵ
ϸ

н
й

ф ͍
с

ǆ
Đŵ

Ϲ
Ъ

р
ά

Ы
х

ŵ
ϸ

н
й

ф
ж

ʹ
Đŵ

͍
п

р
с

ǆ
Đŵ

Ϲ
Ъ

р
ά

Ы
х

ŵ
ϸ

н
й

н͍сǆĐŵϹЪрάЫхŵϸнйфжʹĐŵ͍пр фЫ

н͍сǆĐŵϹЪрάЫхŵϸнйфжʹĐŵ͍пр фЫ

11111111
2

ϯ
ϰ

ϱ
ϲ

ϳ
ϴ

ϵ
10

11
12

13
14

15
16

17
18

19
20

21
22

23
24

25
26

27
28

29
30

31
32

33
34

35
36

37
38

39
40

41
42

43
44

45
46

47
48

49
50

51
52

53
54

55
56

57
58

59
60

61
62

63
64

65
66

67
68

69
70

71
72

73
74

75
76

77
78

79
80

81
82

83
84

85
86

87
88

89
90

91
92

93
94

95
96

97
98

99
100

©
 Ham

ilton Trust 
Explore m

ore Ham
ilton Trust Learning M

aterials at https://w
rht.org.uk/ham

ilton 



3UDFWLFH�6KHHW�+RW
Adding and subtracting 11 and 12�

Part A
8VH�WKH�DQVZHU�IURP�WKH��UVW�TXHVWLRQV�WR�KHOS�ZLWK�WKH�VHFRQG�

1. 36 + 10 = 36 + 12 =

2. 78 – 10 = 78 - 12 =

3. 44 + 10 = 44 + 12 =

4. 23 - 10 = 23 - 12 =

Part B 
Now calculate these:

1. 39 – 11 =

2. 41 – 11 =

3. 67 + 11 =

4. 55 – 12 =

5. 92 – 12 =

6. 38 + 12 =

7. 31 – 12 =

8. 89 + 12 =
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Adding and subtracting 11 and 12 �PLOG�

1. 30 + 10 = 40 30 + 11 = 41 30 + 12 = 42
2. 40 - 10 = 30 40 - 11 = 29 40 - 12 = 28 
3. 20 + 10 = 30 20 + 11 = 31 20 + 12 = 32 
4. 33 + 10 = 43 33 + 11 = 44 33 + 12 = 45
5. 42 + 10 = 52 42 + 11 = 53 42 + 12 = 54 
6. 36 - 10 = 26 36 - 11 = 25 36 - 12 = 24

Adding and subtracting 11 and 12 �KRW��

Part A

1. 36 + 10 = 46 36 + 12 = 48
2. 78 - 10 = 68 78 - 12 = 66
3. 44 + 10 = 54 44 + 12 = 56 
4. 23 - 10 = 13 23 - 12 = 11

Part B

1. 39 - 11 = 28
2. 41 - 11 = 30
3. 67 + 11 = 78
4. 55 - 12 = 43
5. 92 - 12 = 80
6. 38 + 12 = 50
7. 31 - 12 = 19
8. 89 + 12 = 101
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$�%LW�6WXFN"
SWDLUFDVH�PDWKV

Work in pairs

� ,�FDQ�DGG�DQG�VXEWUDFW����IURP���GLJLW�RU���GLJLW�QXPEHUV�
� ,�FDQ�EHJLQ�WR�GHVFULEH�DQG�H[SODLQ�QXPEHU�SDWWHUQV�

Things you will need:
� 3encil
� 3DSHU
� ������JULG

 What to do:

v &KRRVH�D�QXPEHU�IURP���DQG���RQ�WKH�WRS�URZ�RI�WKH������
QXPEHU�JULG�

v 'UDZ�D�ULQJ�DURXQG�LW�

v $GG�����XVLQJ�D�FRXQWHU�WR�DFW�DV�C6SLGHU
�DQG�C)O\
�WR�KHOS�

v 5LQJ�WKH�DQVZHU�

v $GG����DJDLQ�DQG�DJDLQ��7DNH�FDUH�ZKHQ�DGGLQJ����WR�WKH
PXOWLSOHV�RI����

v 6WRS�ZKHQ�\RX�UHDFK�WKH�ERWWRP�URZ�RI�WKH�JULG�

v :ULWH�WKH�QXPEHU�WKDW�\RX�VWDUWHG�RQ�DQG�WKH�QXPEHUV�\RX
ODQG�RQ�HDFK�WLPH��H�J�������������HWF���ZLWK�RQH�QXPEHU�XQGHU
WKH�RWKHU�LQ�D�FROXPQ��:KDW�GR�\RX�QRWLFH�DERXW�WKH
VHTXHQFH�RI�QXPEHUV"���%RWK�GLJLWV�LQFUHDVH�E\���HDFK�WLPH�
XQWLO�UHDFKLQJ�D����

v &DQ�\RX�H[SODLQ�DQ\�SDWWHUQV�\RX�QRWLFHG"

v &KRRVH�D�GLIIHUHQW�VWDUWLQJ�QXPEHU�RQ�WKH�WRS�URZ�RI�WKH
JULG��5HSHDW�

S-t-r-e-t-c-h

�
�
� 

/HDUQLQJ�RXWFRPHV

�
�
�
�

FUD�

v 1H[W��FKRRVH�D�QXPEHU�IURP�WKH�ERWWRP�URZ�DQG�ULQJ�LW�RQ�WKH�JULG�
v 6XEWUDFW����DQG�ULQJ�WKH�DQVZHU�
v 5HSHDW�XQWLO�\RX�UHDFK�WKH�WRS�URZ��:KDW�GR�\RX�QRWLFH�DERXW�WKH�VHTXHQFH�RI

QXPEHUV�WKLV�WLPH"
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Check your understanding 
Questions 

Add 11 to 32. 

Then add 11 to the answer. 

Then add 11 to the answer.  

How long can you continue this? 

Subtract 11 from 87. 

Then take 11 from the answer. 

Subtract 11 again.  

How long can you continue this? 

Complete the triangle by writing the missing number. The 3 corner numbers add up to 

the one in the middle.  

Answers on next page
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Check your understanding 
Answers

Add 11 to 32. 

Then add 11 to the answer. 

Then add 11 to the answer.  

How long can you continue this? 

ϰ3, ϱϰ, ϲϱ, ϳϲ, ϴϳ, ϵϴ….  It gets trickier after this if children are unfamiliar with 3-digit numbers 
but don’t discourage them from trying! 

Subtract 11 from 87. 

Then take 11 from the answer. 

Subtract 11 again.  

How long can you continue this? 

76, 65, 54, 43, 32, 21, 10. Do children realise that the sequence is the opposite of the first 
question? 

Complete the triangle by writing the missing number. The 3 corner numbers add up to the one 

in the middle.  

An answer of 23 suggests that children have misinterpreted the problem.   
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